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QUESTION 1

A retention policy and a retention period are defined for the same object. What will control the deletion of that object?
A. The one that was created first

B. Only the retention policy

C. The one with the greater time interval

D. Only the retention period

Correct Answer: D

QUESTION 2

What is a characteristic of ECS buckets when configured to allow access through S3 and NFSv3?
A. Enabled for multiple file system access, but not simultaneous access

B. Enabled for simultaneous file system access

C. Enabled for access from third-party tools

D. Enabled for file system or object access, but not both

Correct Answer: D

QUESTION 3

In an environment with two or more VDCs, which operation is unavailable when network connectivity is
interrupted between the VDCs?

A. Write object

B. Read object

C. Update object

D. Create object

Correct Answer: B

QUESTION 4

You are configuring a NetWorker CloudBoost solution using ECS as LTR backup. When adding the CloudBoost
appliance in the Dell EMC Cloud Portal, the configuration fails and shows the following error:
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Operation Completed with errors. Could not apply initial configuration. Reason: Validation failed; cloud profile is invalid
What is causing this error?

A. Claim code is invalid when registering the CloudBoost appliance

B. ECS object access S3 password does not match ECS access key

C. Display name is set incorrectly for the ECS Cloud Profile

D. ECS access key ID does not match object user name

Correct Answer: A

QUESTION 5

What is a prerequisite for an end user to obtain the license file?
A. License Authorization Code (LIC)

B. ECS access to ELMS website

C. Software ID (SWID)

D. Number of ECS nodes

Correct Answer: A
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